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‘Edpa YTinpeoiag : AOYTPA YNOWH®IQN KATHIOPIAZ AE
Aidpkeia Z0ppBaong : 4 MHNEXZ KQAIKOZ ©OEZHZX : 103
EidikétnTa : AE BOHOQN NOZHAEYTQN
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(1a) | (1B) | (2) B @G| @6 @ (8) (9 (10)
3 TKIPITZIQTH EAENH MAN 29477( OXI NAI 1 20 1 12,00 1040 50 240,00 1.330,00 1
2 ANAPEAAOY  KQN/NA ANA AE831 OXI NAI 1 19,40 81 388,00 567 955,00 2
OKA AHMHTPA  NIK(AZ80
4 5009 OXI NAI A 5 17,48 86 260 349,58 588 1.197,58 3
1 ZTAMATIAAQY ANNA BIK"AK433 OXI NAI A 3 7 1 19,10 13 280 50 382,00 91 803,00 4
0,00 5
0,00 6
EMNITYXONTEX 0,00 7
1 TKIPITZIQTH EAENH 0,00 8
0,00 9
0,00 10
AlMNOPPINTOMENOI 0,00 11
1 TZATZH AIKATE EAAEIYH BAZIKOY TITAQOY 0,00 12
2 XATZHKYPIAKC EAAEIWH AAEIAY AZKHZEQX EMATEAMATOX 0,00 13
0,00 14
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